YRR29F4828

E—BHIN SME (1458)

AfRLF 25 -0 (468)

gLz K 2 OUT| IN |GROSS|HDCP| NET
1 B8 &= 37 36 73 6 67
2 (EiE = 39 37 76 8 68
3 === > % - 40 39 79 11 68
4 w2 40 35 75 6 69
5 3811 =3 39 41 80 10 70

N +Z0OR

BG B8 &= 37 36 73

B#kL F+ 2S5 —DE0 (62%)

gLz K 2 OUT| IN |GROSS|HDCP| NET
1 IR Bt 40 38 78 20 58
2 wWE =& 42 39 81 17 64
3 AT T 45 43 88 21 67
4 At |7 43 45 88 20 68
5 ab B 42 47 89 21 68

N +Z0OR

BG IR Bt 40 | 38 78




E— B TH29%4828

TISVRIZP « UT 1 —RADEB (378

g iz K 2 OUT| IN |GROSS|HDCP| NET
1 WX g3 44 | 45 89 30 59
2 it LR 34 37 71 8 63
3 Bl 1ES 45 43 88 25 63
4 FR BfE 45 50 95 30 65
5 BO B 44 | 41 85 18 67

N +Z0OR

BG it —Lh) 34 37 71
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